





	_	<u> </u>	<u> Vn</u>	_								
	n	Squared ² n^2	Square Root √n	n	Squared ²	Square		Square		Square		Square
	1	1	1.000	51	n^2 2601	Root √n 7.141	n 101	Root √n	n	Root √n	n	Root √n
	2	4	1.414	52	2704	7.141	102	10.050 10.100	151	12.288	201	14.177
	3	9	1.732	53	2809	7.280	103	10.149	153	12.329	202	14.213
	4	16	2.000	54	2916	7.348	104	10.198	154	12.410	203	14.283
	5	25	2.236	55	3025	7.416	105	10.247	155	12.450	205	14.318
	6	36	2.449	56	3136	7.483	106	10.296	156	12.490	206	14.353
	7	49	2.646	57	3249	7.550	107	10.344	157	12.530	207	14.387
	8 9	64 81	2.828 3.000	58	3364	7.616	108	10.392	158	12.570	208	14.422
	10	100	3.162	59 60	3481 3600	7.681	109	10.440	159	12.610	209	14.457
	11	121	3.317	61	3721	7.810	111	10.488	160	12.649 12.689	210	14.491 14.526
	12	144	3.464	62	3844	7.874	112	10.583	162	12.728	212	14.560
	13	169	3.606	63	3969	7.937	113	10.630	163	12.767	213	14.595
	14	196	3.742	64	4096	8.000	114	10.677	164	12.806	214	14.629
	15	225	3.873	65	4225	8.062	115	10.724	165	12.845	215	14.663
	16	256 289	4.000	66	4356	8.124	116	10.770	166	12.884	216	14.697
	18	324	4.123	68	4489 4624	8.185 8.246	117	10.817	167 168	12.923 12.961	217	14.731
	19	361	4.359	69	4761	8.307	119	10.863	169	13.000	218	14.765
	20	400	4.472	70	4900	8.367	120	10.954	170	13.038	220	14.799
	21	441	4.583	71	5041	8.426	121	11.000	171	13.077	221	14.866
	22	484	4.690	72	5184	8.485	122	11.045	172	13.115	222	14.900
	23	529	4.796	73	5329	8.544	123	11.091	173	13.153	223	14.933
	24 25	576 625	4.899 5.000	74 75	5476	8.602	124	11.136	174	13.191	224	14.967
	26	676	5.099	76	5625 5776	8.660 8.718	125	11.180 11.225	175	13.229	225	15.000
	27	729	5.196	77	5929	8.775	127	11.269	177	13.200	226	15.033
	28	784	5.292	78	6084	8.832	128	11.314	178	13.342	228	15.100
	29	841	5.385	79	6241	8.888	129	11.358	179	13.379	229	15.133
	30	900	5.477	80	6400	8.944	130	11.402	180	13.416	230	15.166
	31 32	961 1024	5.568	81	6561	9.000	131	11.446	181	13.454	231	15.199
	33	1024	5.657 5.745	82	6724 6889	9.055 9.110	132	11.489	182	13.491	232	15.232
	34	1156	5.831	84	7056	9.110	133	11.533 11.576	183	13.528	233	15.264
	35	1225	5.916	85	7225	9.220	135	11.619	185	13.565	234	15.297 15.330
	36	1296	6.000	86	7396	9.274	136	11.662	186	13.638	236	15.362
	37	1369	6.083	87	7569	9.327	137	11.705	187	13.675	237	15.395
	38	1444	6.164	88	7744	9.381	138	11.747	188	13.711	238	15.427
	39 40	1521 1600	6.245	89	7921	9.434	139	11.790	189	13.748	239	15.460
	41	1600	6.325	90	8100 8281	9.487	140	11.832	190	13.784	240	15.492
	42	1764	6.481	92	8464	9.539 9.592	141	11.874	191	13.820	241	15.524
	43	1849	6.557	93	8649	9.644	143	11.958	193	13.856	242	15.556 15.588
	44	1936	6.633	94	8836	9.695	144	12.000	194	13.928	244	15.588
	45	2025	6.708	95	9025	9.747	145	12.042	195	13.964	245	15.652
	46	2116	6.782	96	9216	9.798	146	12.083	196	14.000	246	15.684
	47	2209	6.856	97	9409	9.849	147	12.124	197	14.036	247	15.716
Dia .	48 49	2304	7.000	98	9604	9.899	148	12.166	198	14.071	248	15.748
	50	2500	7.000	100	9801	9.950	149	12.207	199	14.107	249	15.780
	201	2000	7.071	100	10000	10.000	[150]	12.247	200	14.142	250	15.811









